ANSWERS

1640 to 1646
		
1. He needed ££ because the Scots were in Newcastle– needed to pay them £850pd to keep them from advancing south

2. Multiple reasons.. he gave bad advice/fear of Irish army/easier to blame him than king


3. To arrest the 5 members/could be seen as tyrannous action/ turned London against him


4. Edgehill/Marston Moor/Naseby possibly Turnham Green or Newbury.. local answers acceptable!


5. Manage war & peace parties/SL&C/organised county committees for tax collection

6. Treaty between Scots covenanters & Parliament/ gave Parl 20,000 trained & experienced fighting men/ led to victory at MM/ showed tensions between Independents & Presbyterians in Parl.


7. Separate political & military leaders – Essex & Manchester go with honour/Oliver Cromwell exception

8. Disciplined/uniformed/paid/godly…

9. Naseby


10. Radicalism rose – political [equality] & religious [godly/ toleration].. Explain link between 2

11. Answers depend on who studied?

12. Yes – K lost war cos...
· Failed as military leader
· Lack of ££
· Controlled poorer parts of England with fewer ports
· Didn’t hold London
· [bookmark: _GoBack]Poor control of soldiers and generals
NO- parliament won war cos...
· Motivation
· Pym
· Resources
· SDO/NMA
Other reasons?

